9
& @ R Addition von Briichen ( gemischter Bruch )

Name: Datum: Ergebnis:
I 1 1 1
4= — 4=
2 3 7 6
6 5 6 2
S+ I= 412 =
8 6 8 5
L2 L1

2 8 6 7
2 4 5 1
12+ - = 4=
5 9 6 6
1 1 4 5
7 5 5 6
2 1 I 2
R 1= += =
4 2 S
2 1 6 1
Z4+0= = —+1= =
7 2 3 8 : 2
301 4 2
Z41-= 4+ Z=
5 4 7 8
3 1 5 3
T4l-= S+l =
4 2 7 8
4 5 1 1
-+ = — 4+ - =
7 9 3 2
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Addition von Briichen ( gemischter Bruch )

Name

1 1 5
-+ — = —_

2 3 6

6 5 19 7
—+ Il ="=1—
8 6 1 12
,l,2_ 13
2 8 4 “4
2 4 83 38
l-+=—=—=1—
5 9 5 45
I 1 12

_ — = —

7 5 5

2 1

—+ - =1

4 2

2 1 55 13
)= =)
7 23 221
3 1 37 17
4l = =1
5 4 2 20
32,1
4 "2 4 "4
4 5 71 8
—+ = =1—
7 9 3 63

Datum: Ergebnis:
1 I 55 13
Stlo==1=
76 42 A
6,248 _3
8 5 20 20
I 1 55 13
l-+-=""=1—"
6 7 2 42
5.1,
6 6
4 5 49 19
—_+I="=1=
5 6 3 30
1 2 28 13
l—+2="=1—
5 3 1 15
6 1 9 |
—+1- =2 =92_
8 12 4 24
4 2 23
-+ 2 ==
7 8 28
5 3 6l 5
4+l =" =1=
7 8 56 56
1 1 5
4+ ==
3 2 6
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